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9 - 3= 40+ 8 = 16+ 2 =
3 X 3 = - B x 8= 8 X 2
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LT x 9= L2 x| = 4 x 6 =
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6 X 2 = 2 X 5 =

24+ 3 = 63+ G =
8 x 3 = L7 x 9 =

<~ 40+ 8 = S 4 = 4 = 24+ 6 =
5 x 8 = - x 4 = L4 ox b =

81+ 9 = 32+ 8 = S48+ 8 =
7 x 9 L4 x 8= L6 x 8=

20+ 5 = 45+ 5 = 12~ 4 =
L ax 5= 7 5 = Cawh-

8= S35+ 7= e+ 2 =
§x | = 8 x 2 =
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8)(4: 5)('7:

24~ 6 =
4 x 6= - 3 x|
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|10+ 56 = 36+
2><5= *»6)(6:
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S 63+ 7 = 12+ 3 =
L9 x 7= 4 x 3=
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30+ 5 = S 24+ 6 =
6 x 5= 4 x 6 =

16+ 4 = 42+ 7 =
4 x 4 = 6 x 7 =

18+ 2 §27+9=
L9 X 2 = 3 X Q@ =
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27+ 9 = |8+~ 3 =
3x¢9q= 6 x 3=
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32+ 4 =
6 x | = - 8 x4 =
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|6+ 8 = 28+ 4 =
2 X 8 = 7 X 4 =

4)(5: 8)('7:

24+ 4 = 54+ 6 =

10+ 2 = 24+ 8 =
5)(2: ' 3)(8:




, T E-:@ _ ) 2 PULY g
5 ;Xo) 1’) U g & 73“‘}'% E E_l_g L«i L £5. ‘ http://print-kids.net/

7 x 3 = 3 x 4 =

N~
.|.

N
|l

64+ 8 =
2 X 2 = 8 x 8 =

36+ 9 = 125+ 65 =
4xq= 5 x 5§ =

24+ 4 = 4T =
w 6)(4: w2X'7=

12+ 8= 42+ 6 =
7 x 8 = 7 X 6 =

S48t 6 = 9 + 9 =
L8 x 6= | x 9 =
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20+ 5= 56+ 8 =
4)(5: '7)(8:

63+ 7 = 36 -9 =
9X7= 4)(9:

12+ 6 = 710+ 2=
2 X 6 = 5 x 2 =

24 + 4 = 7T =
6 x 4 = Ll x 7=
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36+ 4 = 221+ 3
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36+ 9 = 35+ 5 =
4 x 9= 7 x 6 =

56+ 8 = 36 4 =
'7)(8: 9)(4:

3)('7: 2x6= 2xq=

“w 6 x 5= 5 x 4 = '6x8=
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L2 x 9= L3 x 2= L7 x 3=
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| 35+ 7 =
4 x 3= b x 3= 5 x 7 =



